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Conceptual Physics
Worksheet – Q=mc∆t
1. The specific heat capacity of water (cwater) is 4.18 joules/gram•C°.  How much energy do you need to add to a 1,350 gram pot of water to raise its temperature by 27°C?

2. You want to heat up some water to wash the car with.  You have 8,500 grams of water at 18°C that you want to heat up to a temperature of 32°C.  How much heat must you add to the water?  The specific heat capacity of water (cwater) is 4.18 joules/gram•C°.  
3. You are making a glass of tea, so you boiled 250 grams of water.  You got distracted, and the water cooled down to 21°C.  How much heat do you have to add to the water to bring it back to a boil?  The specific heat capacity of water (cwater) is 4.18 joules/gram•C°. (The boiling point of water is 100°C) 
4. 19,000 joules of energy are added to a pot of water.  The starting temperature of the water is 17°C.  The final temperature of the water is 55°C.  What is the mass of the water sample?  The specific heat capacity of water (cwater) is 4.18 joules/gram•C°.  
5. 31,820 joules of energy are added to another pot of water.  The mass of the water is 430 grams.  How much does the temperature of the water increase?

6. 165,000 joules of energy are added to 1,300 grams of water.  If the initial temperature of the water is 20°C, what is the final temperature of the water?

7. You place an iron frying pan on the stove to heat it up for pancakes.  The mass of the frying pan is 2,750 grams.  If the temperature increases 335°C, how much energy was added?  The specific heat capacity of iron (ciron) is 0.11 joules/gram•C°.  

8. A 1,250 gram iron fire poker is placed in a fire.  8,400 joules of energy are added to it.  How much does the temperature of the fire poker increase? The specific heat capacity of iron (ciron) is 0.11 joules/gram•C°.  

9. You have a large copper bowl with a mass of 1,700 grams.  It is filled with 2,500 grams of water.  The temperature of both is 15°C.  How much energy do you need to add to raise the temperature of both up to 52°C?  The specific heat capacity of copper (ccopper) is 0.093 joules/gram•C°.  The specific heat capacity of water (cwater) is 4.18 joules/gram•C°









Worksheet - Q=mcdt.doc

